Plastic screws

<Features>
A metal screw is integrally molded into the resin head. Non-slip

serrations on the outer circumference of the head

It's attached. Can be tightened or loosened by hand.

<Application >
Used for tightening parts where you want to repeatedly remove
screws by hand without using tools.

< Material >
Screw part: Iron
Resin part: Resin

No Model number Surface treatment: Trivalent chromate plating

1 |Plastic screws NO.1 3X6 WH

2 |Plastic screws NO.1 3X8 WH — d )

3 |Plastic screws NO.1 3X10 WH =] ﬁ;

4 |Plastic screws NO.1 3X16 WH S I= }- o

5 [Plastic screws NO.1 4X10 WH | )

6 |Plastic screws NO.1 4X20 WH ™

7 |Plastic screws NO.2 4X8 WH m

8 |Plastic screws NO.2 4X10 WH

9 |Plastic screws NO.2 4X12 WH HJL B

10 |Plastic screws NO.2 4X16 WH

11 |Plastic screws NO.2 4X20 WH Head Screw name D D1 H H1 B C
12 |Plastic screws NO.3 5X10 WH No.1 M3, M4 11 10 5 0.5 - -
13 |Plastic screws NO.3 5X15 WH No.2 M4, M5 14 13 5.5 1 0.7 11
14 |Plastic screws NO.3 5X20 WH No.3 M5, M6 17 16 7 1 1 12




L b

FEURIL B

Z2Uouyd—-Lbwv krRILF ///

lilvelV

s (CBE OMBREERT. ZvTbh-o>E, RUEICO—DU Y MEHDAS>TVNDDTETHTIF =
RUHE BEHIE) TEFD,
CHZ D FHHTER. XA FTARSAN—THHMITT, FEQUPLIRIAUETSERREICE
Iy BATE%,
(WE HOEHR GEELR —vrllH-o=
RULAL
AL
S _H2 JAN 42 [ AB][LOT JAN 42X | A%]LOT
7R i 4979874462268|  3X10 4 [ 5 4979874133700| 5X10 2 | 5
727 T 4979874462275| 3X15 2| 5 4979874864055| M3X10 | 1 | 100
S D |d 4979874462282 4X6 4 [ 5 4979874864062| M3X15 1 [ 100
- B mm 4979874462299|  4X10 2 | 5 4979874864079 | M4X6 1 1100
o e d | D | H [HTH2 4979874462305| 5X10 2 | 5 4979874864086 | M4X10 1 [ 100
zl - 2R ol [M3 80 l48 ]38 4979874133663| 3X10 4 [ 5
T gmmes. M4.-|10.0] 4.8 [ 3.8 | 1.0 4979874133670| 3X15 3|5
[ - 47 M5 [12.0] 5.2 [ 4.2 4979874133687 4X6 4 [ 5
— 4979874133694 |  4X10 3|5
FEERE
a2y vRUTER
e .
i ___ d 2 YR UEETE B4 mm
igg %' \/ﬁ map| PO p D H H B C
b f—— \ M3
ECEER — — Al A i @) No.1 M4 11 10 5.0 0.5 — —
o-—>-
A — 1 No.2) z; 14 13 5.5 1.0 0.7 11
T Hl No.3 Ms 17 16 7.0 1.0 1.0 12
DIY ) i
U B H B Off%  SEERHE | 1U-lRg. U845  SWRM
6
AF—-
mESE .
| TEEEE= — " R
el 'S 25y 7Rl B Y/
FrRI—

— BIRSELDTECEBEOR LN —ERE L TH Y FT. BBOABIICT N IEHDOETD
mm= FVNTET . FEREFIEDE) TEET,

TEARFEOIFETHEIRURUERSE U WMEFROMM T ITEALET,

i
(CHE DRUER: . HIFSE : &5 GEABE =fJ0OX— o=
[Eeel
R JAN HAX A#| LOT JAN Y4 X A#| LOT JAN Y4 X A#| LOT
L 4979874462114 | NO.1 3X6 | 10 5 4979874834478 | NO.2 4X16| 4 5 4979874734716 4X10 1 100
4979874834454 | NO.1 3X8 | 10 5 4979874834430 | NO.2 4X20| 2 5 4979874734723 4X12 1 100
ZEHm 4979874462121 | NO.1 3X10| 10 5 4979874462176 | NO.3 5X10| 4 5 4979874734730 4X16 1 100
e 4979874834461 | NO.1 3X16| 8 5 4979874462183 | NO.3 5X15| 4 5 4979874734778 5X10 1 100
EEFM 4979874462138 | NO.1 4X10| 10 5 4979874462190 | NO.3 5X20| 2 5 4979874734785 5X15 1 100
4979874834416 | NO.1 4X20| 4 5 4979874734662 3X6 1 100
H—HER 4979874462145 | NO.2 4X8 8 5 4979874734679 3X10 1 100
S 4979874462152 | NO.2 4X10| 8 5 4979874734686 4X10 1 100
SAY - 4979874462169 | NO.2 4X12| 8 5 4979874734709 4X8 1 100
Z Dt
RiguE
el

- XERIDIZD, EYEFSLESTENBUET,
MT3E(C (H2 AN /\I Nt | N
’ YAHATA MPECIFRADREN G ET




A—h—8F (JAN) — RS Web&kRAFENLLE

No Smi JAN Y4 X RS WebZF/RE &
1| 72XFv 7l H 4979874462114 |NO.13X6 [Plastic screws NO.1 3X6
2 |772xFvoshl H 4979874834454 [NO.1 3X8 |Plastic screws NO.1 3X8
3|77 RFy ol A 4979874462121 |NO.1 3X10 [Plastic screws NO.1 3X10
AN\TZ7RFyvonRL A 4979874834461 |NO.1 3X16 |Plastic screws NO.1 3X16
b |7Z2XFv sl H 4979874462138 |NO.1 4X10 [Plastic screws NO.1 4X10
6 |77XFv sl H 4979874834416 |[NO.1 4X20 |Plastic screws NO.1 4X20
1| 772XFv 7Rl H 4979874462145 |NO.2 4X8 [Plastic screws NO.2 4X8
8 |77XFv ol A 4979874462152 |NO.2 4X10 |Plastic screws NO.2 4X10
9 |7Z7RXFv ol H 4979874462169 |NO.2 4X12 |Plastic screws NO.2 4X12
W[(7Z72xFvyonlL A 4979874834478 |NO.2 4X16 |Plastic screws NO.2 4X16
1N|(7Z7XFv ol A 4979874834430 |NO.2 4X20 |Plastic screws NO.2 4X20
12| 72xFvyovhl H 4979874462176 |NO.3 5X10 |Plastic screws NO.3 5X10
B772XFvy ol A 4979874462183 |NO.3 5X15 [Plastic screws NO.3 5X15
M|\ 72xFy vl H 4979874462190 |NO.3 5X20 [Plastic screws NO.3 5X20






